DU MA Political Science

Topic:- DU_J18_MA_PS_Topic01

1) Collective Security System of the UN is based on the principle of:-

TgerT TS T T TAfee G Jumel fohe [igend o3 amarRa ofr-

[Question ID = 226]

1. Balance of power to be maintained by state of equilibrium / AFITEET & can 1 Fd :EEJEIEI o Ml Hel [Option ID = 904]
UE Fash e, §@ @ & b o0 g0

Feashrl A & e TehaRwr Uideas ofemen
3. Imposing sanctions against the belligerent state unilaterally / -

QATFARATE G2 & ZaRT TR&T HT JaereT

2. All for one, one for all /
[Option ID = 902]
4. Maintenance of security by the major powers / [Option ID = 903]

Correct Answer :-
« All for one, one for all / T ¥ 2 T W TR & fau [Option ID = 901]

2) Abul Fazl represens the fusion of:-

HY-Hotel H e A= §-

[Question ID = 284]

. o IRG HRCAT ITeilfcish faaR .
1. Arab Indian political thought / [Option ID = 1134]
2. Indian and Chinese thought /’J-I'R_cﬁ?l - A Riaa [Option ID = 1135]

58 A IS 60

3. None of the above / [Option ID = 1136]
4. Persian-Indian political thought / [Option ID = 1133]
Correct Answer :-
« Persian-Indian political thought / [Option ID = 1133]

3) In 1945, the new organization called the United Nations pledged “'to promote social progress and better standards of life” because:-

1945ﬁwa§ﬁmwm§3ﬂﬁﬁéﬂaﬂmmwmma
TS AT 3R Shaer 7 JgeR a[oTadr 95T e AT i

[Question ID = 231]

1. It was competing with other international organizations like the World Bank /

Tg 3 SFRIFT TaA oY fay 9 & Ty vferaef = 36 A1 [Option ID = 924]

2. The colonized countries had started to exert pressure on the international community /

SMrafafie 3=l 3 SRR ¥e R gaTa <1 Yo ) faaT ATl [Option ID = 923]

3. The founders of UN considered it to be a white man’s burden /

e 1Y & Pl 38 @7Ee 47 9879 U B 3@a 3 [Option ID = 921]

4. The UN Charter draws a link between international security and global poverty and development /
U AR A RIS Q& Iy Ts 3R b & i T 1 & ¥U # <@ [Option ID = 922]

Correct Answer :-



« The UN Charter draws a link between international security and global poverty and development /

U AR A SRR TRefT, 3y et SR fawr & o v H! & $U H @ [Option ID = 922]

4) Structural Functionalism as a method was developed to study the politics of:-

WA EACHS ThalcAsdrarg &1 faeRrT th geufd & s0 # 5 Ieeifa &
e & e fhar 9

[Question ID = 207]

faeprefer e &1 =g
1. Politics of developing countries / [Option ID = 828]
2. Developed Socialism / TR 3 Tehie: [Option ID = 826]

Hieadd Iaitarg

3. Advanced Capitalism / ™ [Option ID = 825]
4. Modern Totalitarianism / = [Option ID = 827]
Correct Answer :-

Ta@rTeiter Cail &hr Jreenfd
« Politics of developing countries / [Option ID = 828]

5) Which of the following statements is true of the Social Contract of Hobbes?

fTrafafaa 7 9 sl a1 oy gled & aenfas gasitar IR F T §7?
[Question ID = 250]
1. Everybody gives up their right of governing themselves. / Wl & =L L ¢ %I

2. The Leviathan is a party to the contract. / i AR tar 1 iE S @T“T %I [Option ID = 999]
IqE TASAT 3chAT (3ofcer I94) B

3. The contract is reversible. / [Option ID = 1000]
4. The contract takes away only some of the natural rights. /

T gRT $& Whfad HABR 5 a1 dferd &= faam e g1 [Option ID = 998]

[Option ID = 997]

Correct Answer :-

« Everybody gives up their right of governing themselves. / < E ! 2 [ © E %l [Option ID = 997]

6) Which of the following is associated with pluralist Theory?

Fratafaa & ¥ e ageadr Riguia far &2

[Question ID = 265]

e T}
1. Charles Taylor / [Option ID = 1060]

drase fAew

2. Wright Mills / [Option ID = 1059]

faerher et
3. Vilfredo Pareto / [Option ID = 1058]

[EE 55
4. Robert Dahl / [Option ID = 1057]
Correct Answer :-

I@E S
+ Robert Dahl / [Option ID = 1057]



Which of the following is not a Special Minority right endorsed by Will Kymlicka?

Trfofag 7 & 9 faa Fafer o faftce scuaecas 3f¥eER ) 781 T
[Question ID = 266]
g ANER
1. Poly-Ethnic Rights / [Option ID = 1061]
#-8TATT FarEr RN
2. Territorial Autonomy Rights / [Option ID = 1063]
3. Special Representation Rights / Y [Option ID = 1064]

4. Self-Government Rights /
W-WRHR BT YBR [Option ID = 1062]

Correct Answer :-

S1-a1A1 TdradT FferRR
« Territorial Autonomy Rights / [Option ID = 1063]

8) Which of the following is not an idea associated with Jeremy Bentham?

ﬁmﬁ@aﬁﬁaﬂaﬁﬁwm#Mﬁ@@aﬁé?
[Question ID = 267]

PR STeTerlT

(=
1. Individual rights are inviolable / [Option ID = 1067]

IS Hleld TaAAdT & Seagd o
2. Every Law is an infraction of liberty / - [Option ID = 1066]
3. It is the greatest happiness of the greatest number that is a measure of right and wrong /

TET 3R TS BT HIUH BT ABR AfIsdH AT b1 HfihaH & 1 [Option ID = 1068]
Wishfas TSR Al SaRT dHsT & A W AHA §

4. Natural Rights are ‘Nonsense on stilts’ / [Option ID = 1065]
Correct Answer :-

o o ST ! Bl
« Individual rights are inviolable / [Option ID = 1067]

9) Which of the following books deals with the concept of “Civic Virtue”?

forafafaa 71 & feaa aeRe Fgarer &1 faeuna sead f&har am=m

[Question ID = 249]

1. Leviathan / [Option ID = 996]

g T Flecde
2. The Social Contract / [Option ID = 995]
. g B .
3. The Discourses / [Option ID = 994]
o
4. The Republic / [Option ID = 993]

Correct Answer :-

) g BN .
« The Discourses / [Option ID = 994]

10) Which one of the following depict the Westphalian Constitution of World Politics?

(A) Sovereignty



(B) Territoriality
(C) Autonomy

Taeg U=t & aecthfer afr F g o o Tar =
%) T
@) g-ardrar

) Fdrr

[Question ID = 232]

1.Band Conly / ael @ HR T [Option ID = 927]

%, @, 9 i
2.A,Band C/ [Option ID = 925]

Faa & IR @ )
3.Aand Bonly/ [Option ID = 926]

PG aT6r

4. None / [Option ID = 928]

Correct Answer :-

@, ®©, 4T )
« A,BandC/ [Option ID = 925]

11) Which one of the following is the position of the ‘transformationalists’ in the debate about globalization?

ﬂﬁgﬁﬂ?ﬁ{m F faare & de & giadaaiear (Transformanist) @hr @=m TEard
%‘.
[Question ID = 209]

1. States are losing power and influence as a result of globalization. /

I A SO Wi G YT BT G GRUTHRGR Y YHSHSBRUN BT 364 §afT| [Option ID = 833]

2. States remain in charge of globalization and have even managed to expand their capacities for regulation and control. /

g 3t off yFselienRur & Ry STRer! & au 98 Fow @ e & forg st e fawdR o1 Ui SRal 81 [Option ID = 835]
3. States are becoming stronger in some respects and weaker in others as a result of globalization. /
i I $2 T H T st Aeted g1 T a1 R 2T SHSIR [Option ID = 834]
4. All of these /

IRIad H T Tt [Option ID = 836]

Correct Answer :-
« States are becoming stronger in some respects and weaker in others as a result of globalization. /

YHSHHR0 & RGeSy g $& el & a1 O A1ST Telgd g1 11 a1 fOhR 21ST FHWIR [Option ID = 834]

12) Which one of the following is and example of * Social Audit’?

Trfafaa # & ol drera 3ifEe (@EfSis 3HaToT) &1 3CIEI0T AT STdr &2

[Question ID = 363]

HaLam
1. MNREGA / [Option ID = 1449]
2.RTIL/ [Option ID = 1452]
3.RTE/ [Option ID = 1451]

U R UUH .
4. NRHM / [Option ID = 1450]



Correct Answer :-

« RTI/ [Option ID = 1452]

13) Which one of the following is not a model of public policy making?

TrAafEa 7 & #ia dwddfa o dasdt asa 78 &
[Question ID = 298]

sfeseT Atser
1. Elite Model / [Option ID = 1190]
o HiseT

2. Rational Model / [Option ID = 1192]

HEAET HAlS
3. Institutional Model / [Option ID = 1189]

4. Transformational Model / E [Option ID = 1191]

Correct Answer :-
« Transformational Model / E [Option ID = 1191]

14) Which conception of liberty Isaiah Berlin defends in his essay “Two Concepts of Liberty?”

g afefa A o Py Z 9y ot foraeT i T ave 31 Tz 1 UraRa sevmn 82

[Question ID = 238]

AhHIcHeG N HhRIicHs Tad4dm clal
1. Both Negative and Positive liberty / § ¥ [Option ID = 949]

HFRIcHS Tddadl
2. Positive liberty / [Option ID = 951]

AFRICHS Tadadl
3. Negative liberty / [Option ID = 950]

sAd & 5 AGI

4. None of these / [Option ID = 952]

Correct Answer :-

dAhRTcHS TdAdT
» Negative liberty / [Option ID = 950]



Match the following

1. Plato A The Law of Peoples

.  Rousseau B. The Subjection of Women
iii.  Rawls C. The Laws

w. L S Mill D. Emile

FgAfera FX

i) corer A g @ 3% digew
ii) &4 B § HWeolde 3G g
iii) T3 ¢ gl
v SLud fHe D SHTSe

[Question ID = 771]

1., G; ii, D; iii, A; iv, B [Option ID = 3082]
2. i, A; i, D; iii, C; iv, B [Option ID = 3083]
3., A; ii, C; iii, B; iv, D [Option ID = 3084]
4., A; ii, B; iii, C; iv, D [Option ID = 3081]

Correct Answer :-

« i, G; ii, D; iii, A; iv, B [Option ID = 3082]

Match the thinkers with their corresponding texts and choose the correct answer from

the code:

(A) Thucydides (1) Politics among Nations

(B) Morgenthau (i1) Theory of International Politics
(C) Kenneth Waltz (111) The Peloponnesian War

(D) Machiavelli (1v) The Prince

fewafafaa s & @ &

&) RS i) afeifear 31T e

®) ARfaars i) ST 3T Sedeieleel Qirelieaa
1) SheTer arelest i) @ FreilgaT¥aa @R

) HAfgamae iv) & o

[Question ID = 278]



1. (A)-(iv), (B)-(i), (C)-(ii), (D)- (iii) / & iv) | i) T ii) T iii) [Option ID = 1112]
, (A)-(1). B)-(u), (O-(v). D)/ i) @iii) Tiv) Ti)
3. (A)-(1). (B)-(1). (C)-(1a1). (D)-(1v) / & i) @ii) i) Tiv)
. (A)-(111). (B)-(1). (C)~(11). (D)-(1v) / i) Wi) /i) Tiv)

[Option ID = 1111]
[Option ID = 1109]

[Option ID = 1110]

Correct Answer :-
. @), B)-0. (O-(w). ©-(v) i) i) i) Tiv) [Option ID = 1110]

17) Match the following?

a) Politics is the art of the possible 1) Aristotle

b) Man is a political animal 2) Harold Laswell

c) Politics is about who gets what, when and how 3) Otto Von Bismarck
d) Politics as ‘capacity of acting in concert’ 4) Hannah Arendt
gafera #3-

F) eI FuTfet &1 Fer @ 1 3%

W) U TP It woft @ 2 Res A

M) IS fea T, w9 ok S T @ 3 3ite 9 fawd

H) IS TP AT ATHORG HI P &aT 8 4 BAT 3T

[Question ID = 269]
a2 blcdd3 /) s2@ 17493

a3.b-l,c2d4 /) F3@1aT294
2. [Option ID = 1074]

a-l,b-4,c-2=d-3/ F1w@wdaq293

1. [Option ID = 1075]

3. [Option ID = 1076]

a4.b3.c2.d1/ F4@3T2 01
4, [Option ID = 1073]

Correct Answer :-

a-3.b-l.c2.d4 /  #F3@1T7274
. [Option ID = 1074]

18) Which among the four Vedas gives importance to Indra in its hymns?

IR del # § Hie 3u aMd A g & Agcd T T Il o7

[Question ID = 292]

1. Samveda / [Option ID = 1166]

2. Atharvaveda / [Option ID = 1168]
3. Yajurveda/ [Option ID = 1167]
4. Rigveda / [Option ID = 1165]

Correct Answer :-

. RIde .
» Rigveda / [Option ID = 1165]



19) When was gender mainstreaming adopted as official UN policy by the UN General Assembly:-

TgFd ST AGIENT TaRT Jual HT THRT aAlfcd 7 Ha =I5 FTT-ERT F ST
TR

[Question ID = 296]

2000 _
1. [Option ID = 1182]

2. 1996 [Option ID = 1184]

2005
3. [Option ID = 1183]
1980
4. [Option ID = 1181]
Correct Answer :-

1980
. [Option ID = 1181]

20) 14th SAARC Summit held in New Delhi in 2007, stressed on:-

.14 a wF FFAea 2007 # as oot # smifea G mn Fed Ao s
g

[Question ID = 225]

IAT-8HT Seifaeiddl 9T aof e T
1. Improving intra-regional connectivity / [Option ID = 897]

s & TeEdl @ favar d81 #te oY g [Option ID = 900]
A% & o] cauela Gadl & vid yiddcyar W) ad

3T S TS T A F S5 W e

4. Connecting SAARC with other regional organisations / [Option ID = 899]

2. Not to extend SAARC membership /

3. Commitment to bilateralism within SAARC / [Option ID = 898]

Correct Answer :-

21) Kabir is considered a political theorist because:-

FdY sHferT T=elifd Meuidsr Aer 1 w=iifs
[Question ID = 285]

) ) ) N 3?5.'1?1' el FreniRd Ygdld 9 Tdlel 33T )
1. He questions birth based identities / [Option ID = 1139]

_ CECar i
2. He is a poet / [Option ID = 1137]

q AREEr O

3. He is a feminist / [Option ID = 1138]

4. He is a potter /~ [Option ID = 1140]

Correct Answer :-

22) The materialist conception of history views history.

stagre & dadl sitfasard) faarRyarT & xR, sfdera



[Question ID = 276]

HIS HT Foid & Silieh apeAfaes fafer & fawa &

1. As creation of men subject to empirical laws / [Option ID = 1103]
Helel eaiad & Tohameheldl Z@RT 3R ured
2. As shaped by acts of great men / & %
v giEeaT & gfiome §

3. As result of accident / [Option ID = 1101]

Tt srfa-grepfor erferd & gamr oar g37 &l

[Option ID = 1102]
4. As imposed by supernatural powers / [Option ID = 1104]

Correct Answer :-

HS &1 Yoiad § S magsfass fafer & faw §
« As creation of men subject to empirical laws / [Option ID = 1103]

23) Who among the following is called Father of Liberalism?

Trfafead # 3cRare & [Odr a9 Fed &7

[Question ID = 260]

1. Hobbes / [Option ID = 1038]
e
2. Locke / [Option ID = 1039]

3. Machiavelli / [Option ID = 1037]

£33l .
4. Rousseau / [Option ID = 1040]

Correct Answer :-

o

EIED
e Locke/ [Option ID = 1039]

24) Who among the following is not a postcolonial theorist?

Trafafaa # & sia sw-siufafie Rcgasr ag &2

[Question ID = 240]

1. Partha Chatterjee / [Option ID = 958]
éred Hiars
2. Sudipta Kaviraj / [Option ID = 957]

Tel AT

3. Karl Marx / [Option ID = 960]

ST & s
4. Homi K. Bhabha / [Option ID = 959]

Correct Answer :-

el HIEFT

« Karl Marx / [Option ID = 960]

25) With whom would you associate Cave Allegory?

ferafelfaa & @ ala @ 797 gerad & 9edd Hal 6?
[Question ID = 256]

FHLEG,

™

1. Aristotle / [Option ID = 1021]



Tolel )
2. Plato / [Option ID = 1023]

3. Hobbes / [Option ID = 1024]
4. Machiavelli / [Option ID = 1022]
Correct Answer :-

e Plato / [Option ID = 1023]

26) What is the central assumption of Modernisation theory?

HTETeTehTehtoT RIGHTT T Sheard HAledal F4T §?

[Question ID = 242]

5OH o F5 75T
1. None of these / [Option ID = 968]
2. All societies should follow the path which modern western states have adopted in order to become modern. /

Tt [ATST &1 3T AT T HJEROT a1 Afge oy smeyfares ofessh v o

3relfddsh ded & felw 3aarar o)
[Option ID = 966]
Tl TWATST ITeIfeleh detel & TOTT 3TEET-37erT AT YT b

3. All societies should follow different paths to become modern. / [Option ID =
965]
well GATS T WOETd 3cUTGel WUTell &l il YTl ATgT
4. All societies should adopt traditional modes of production. / [Option ID
= 967]
Correct Answer :-

« All societies should follow the path which modern western states have adopted in order to become modern. /
Tl THST B S AET T HATT Al =T 58 3mgfores aie=el o o

Freffeleh detdl & folw sroerrar o
[Option ID = 966]

27) The South Asian Free Trade Agreement (SAFTA) has not been a success because of:-

1. Narrow export base of countries.
2. Lack of bilateral free trade agreements.
3. Political hurdles.

Select the correct answer using the codes given below.

g a3y ufie W o5 el (Aven) e dgr 6! a4l
1. g & HiffEd fAda 3R
2. gduefa Hed SUaR GASIAT T 3
3. T=ieiiide 5T (aTe)
IHFA # R v e HT T B
[Question ID = 214]

2 and 3 only / 2 3 dhad

1. [Option ID = 855]
1L2and3 / 12 3k 3

2. [Option ID = 856]
1 and 2 only /1 g 2 thael

3 [Option ID = 853]

land3only /' 1 3 3 ¥aer

4 [Option ID = 854]

Correct Answer :-



land3only / 1 @ 3 &aer
. [Option ID = 854]

28) Under the Indus Water Treaty (IWT), India has been given the exclusive right over the rivers of:-

1. Chenab
2. Ravi

3. Beas

4. Indus
5. Satluj
6. Jhelum

Select the correct answer using the codes given below.

iy e gASAr & 3Hadd 9Rd & FE A1 & 3w fafdee #fsn aea

8?
) el

2)
3) e
9
9
6) Sterd

forafefad Het 7 & T8 &1 93 =
[Question ID = 219]

. l,2and60n1}'/1,2 3 6 Faa
) 2,3and50n1y/2,33#‘|1 5 Fad

l,3and40n1}'/1,3 3R 4 Faa

1,2and3 only /1, 2 3R 3 Faw
4, [Option ID = 873]

[Option ID = 876]

[Option ID = 875]

[Option ID = 874]

Correct Answer :-

2,3anc150n1y/2.33ﬂ15m _
[Option ID = 875]

29) Iqgbal’s idea of community is:-

SehaTel &l THTST $T faameamr &

[Question ID = 288]

RIS

1. Transnational / [Option ID = 1152]

2. Local / [Option ID = 1149]

3. External / [Option ID = 1151]
4. International / [Option ID = 1150]

Correct Answer :-

SRS

« Transnational / [Option ID = 1152]



30) Marshall Plan was meant for:-

e AISAAT & 3129 U

[Question ID = 224]

qfgeT Rd Zeff fr riemeem &1 gefaHer _
o = [Option ID = 894]
FR-3ARHT &2l 1 rfeaear & goAfAAor

2. Rebuilding the economics of the North-American countries / [Option ID = 895]

drat faeg & coff & B ardcaawen & AT

3. Building the economics of the third world / [Option ID = 893]

IRIERT 2T FT efeaasam &1 geferATor

1. Rebuilding Western European economics /

4. Building the economics of African countries / [Option ID = 896]

Correct Answer :-

qfgeT gRd Zaff $r srdemeer 1 gefaAer
« Rebuilding Western European economics / o~ = [Option ID = 894]

31) " Butin the long run, it would be in interest of all to forget that there is anything like majority or minority in this country and that in
India there is only one community...”- who gave this statement in Constituent Assembly debate?

o T & e up el & Ra A& & aw aq@ S0 & qu A wo o
SIS N HeTHEdS Sl $G gial §, Fel a8 dRd § AR FHdel vk TAS ©,
gidersr T8 & are-fAae § fFos 95 $99 3o ar-

[Question ID = 303]
1. B. R, Ambedkar / 3131 FFISFT (00000 10 = 1910]

2. Sardar Patel / [Option ID = 1211]
qisd =ig®

3. Pandit Nehru / [Option ID = 1209]

4. Rajendra Prasad R oI TS [Option ID = 1212]

Correct Answer :-

TER Yeel
« Sardar Patel / [Option ID = 1211]

32) India has Kalapani and Susta territorial dispute with:-

HNAT &1 S HR gaar si-a1F &1 [@ae fhas anr g2

[Question ID = 216]

1. Bangladesh / dic 3?T [Option ID = 861]

o

2. Bhutan / [Option ID = 862]
FAR
3. Myanmar / [Option ID = 864]
Farer )
4. Nepal / [Option ID = 863]

Correct Answer :-



State autonomy is challenged in the "Post-Westphalian" order because:-

FOX decihiciae cdava # Usd TR & galiaar & a5 aife-

[Question ID = 230]

1. In a more interdependent world, national governments are forced to engage in extensive multilateral collaboration and co-operation simply to achieve

saH s Toaa faqa, mwﬁﬁﬂﬁ@%ﬂama
. [#Heddqul ® GG 936 3egedl # Wed e & AT fRar S g _
domestic objectives. / s o~ [Option ID = 919]

2. By comparison with the heyday of European global empires the majority of the world population and countries in the South are now much less integrated

S mesﬁﬁaamaﬁra@atmﬁm
T cfEror & 2 St Felldel cuaTal ¥ vhigd Al & & o9 doiell gl ol

into the global system. / [Option ID = 918]
3. State power, nationalism and territorial boundaries are of growing, not less importance in world politics. /

I AfEd, Igag 3R s-aA WA # @R g, sua Agcd [
T & ®ds & A6 o

[Option ID = 920]
4. Countries appear as autonomous containers of political, social and economic activity in that fixed borders separate the domestic sphere from the world

Zr Uerefas, aefes iR 3w st & waa aes & ¥9 F Sradr
A fead gich § aur 39 ule] &1 aedl faed & 3@ gl 1

outside. / [Option ID = 917]

Correct Answer :-
« In a more interdependent world, national governments are forced to engage in extensive multilateral collaboration and co-operation simply to achieve

s JHfaw Tada faea, Tsda TWEHR A favqd sg-ral weaeret @
domestic objectives. / L # = E!'l?:l’\ 333’33? H W YT & AT o S %l [Option ID = 919]

34) Who amongst the following is the exponent of Negative and Positive peace?

ot # & #lF deRoE 3R FEReAS aifd & wE ReuaeR §2

[Question ID = 234]

1. Kenneth Boulding. /Y STTRET [Option ID = 933]

SAgs e
2. Johan Galtung. / [Option ID = 934]

TH.F el
3. M.K Gandhi. / [Option ID = 935]
EICREC])
4. John Dewey. / [Option ID = 936]
Correct Answer :-

g e
« Johan Galtung. / [Option ID = 934]

35) Who among the following would you associate the concept of “Tyranny of Majority”?

T & & 3l JgHd T HATIR (tyranny of majority) & =g & ofsT &7

[Question ID = 251]

3 .
1. Rousseau / [Option ID = 1001]

o

&
2. Hobbes / [Option ID = 1004]

e
3. Mill / [Option ID = 1002]



4. Marx / [Option ID = 1003]

Correct Answer :-

EE]
o Mil/ [Option ID = 1002]

36) Who among the following talked about a ‘Third Dimension of Power'?

frafafaa # @ sl ofFa gadft S setaa wnfa aftes & ara &war 82
[Question ID = 243]

Fooll 3T

1. Hannah Arendt / [Option ID = 972]

&8 A3

2. Hans Morgenthau / [Option ID = 969]

P

3. Steven Lukes / [Option ID = 970]

2T TeRl

o

4. Michel Foucault / [Option ID = 971]

Correct Answer :-

ad o
o Steven Lukes / [Option ID = 970]

37) Who is the author of the book The Rights of Man (1791)?

Frafif@a § @ o1 7 7527 o 97 (1791) & dE® 2
[Question ID = 275]

ATHE 9
1. Thomas Paine / [Option ID = 1098]

e

dlecay
2. Voltaire / [Option ID = 1097]

3. Mahatma Gandhi / Tels e [Option ID = 1099]

EERSIE T
4. Richard Dworkin / [Option ID = 1100]
Correct Answer :-
g O
« Thomas Paine / [Option ID = 1098]

38) Who is the author of the book "The high-caste Hindu woman?”

frafifae & @ 919 ' 718 i g T e & das 82

[Question ID = 241]

T hremEr )
1. Meera Kosamb / [Option ID = 964]

dL.HT HFdsHT
2. B.R. Ambedkar / [Option ID = 961]

3. Pandita Ramabai / [Option ID = 963]
TATETS =T

4. Ramabai Ranade / [Option ID = 962]

Correct Answer :-



« Pandita Ramabai / [Option ID = 963]

39) The policy of structural adjustment was initially mooted by:-

TeAICHS THAMEST 6T A T w3 el R
[Question ID = 206]

Bl e e [Option ID = 821]

draY faeg & ur
2. Third World Countries / EQ [Option ID = 822]

HIF TSC T gEY 3od fasmfad qor

3. United States and other developed countries / = [Option ID = 823]

IETATH g fawd d

1. Dr. Manmohan Singh /

4. IMF and World Bank / [Option ID = 824]

Correct Answer :-

ETHATE T [dT dF
« IMF and World Bank / [Option ID = 824]

Match the following

i LS. Mill

A Deliberative democracy

1. Schumpeter B. Proportional representation
&
D.

111.  Robert Dahl
1. Cohen

Democracy as a political method
Enlightened understanding

P 3

i) srug o A Taaelt dedx

ii) AR B 3equifae yldsifiea

iii) TEE SEA C WA U TSl Jqdfd & 37 A
iv IgeT D vdHSe & TAS

[Question ID = 248]

1 1. B, A, D v, C©
2 1. C;u, B; i, Dy v, A
3 .B;1u, Ciu, Drav, A

[Option ID = 989]
[Option ID = 991]

[Option ID = 990]
LA B, Cowv, D )
[Option ID = 992]

Correct Answer :-
1.B;1, C;in, Dy v, A
. [Option ID = 990]



Match the following institutions with their corresponding functions:

a) GATT 1) lender of last resort providing technical
assistance and shori-term flows of
stabilization finance to any member facing
balance of payment crisis.

b) World Bank 11) a provisional agreement between many
countries, whose overall purpose was to
promote international trade by reducing or
eliminating trade barriers such as tariffs or
quotas for physical commodities.

c) World Trade Organization 111) provides loans and financial and
technical assistatice to support
reconstruction and development, with a
growing emphasis on the task of reducing
poverty.

d} International Monetary Fund 1V) a permanent institution promoting a free
trade agenda covering services, intellectual
property and investment issues as well as
pure merchandise trade.

frrfefad & gafed &Y

) e i) HIAATA Tehe & Hcleled &1
A F @ el o2 H
HETHTelA T Jod
a0 |gIar @ adeiiel
AT, A AT IUREET
F T 7 g &l

@) faeg 4+ ii) TS dichlald AT eddiias
THET &% &at & dr,
ot wqet 3egen amR
aTenHt I g AT T
Fh AU AR &l
Jear & ) o sifas
gl W@ RE sverar
1T

M) faRg =R @9 i) gereREel 3R TR & ferw
eiteT e faci 3R asstidhr

TRl YEldd &hiall Wd JRIEr
faRoT SR 38l & Aged

g

) RIS Hal i v) TRl wer St e
SR USTST #1 et &
foe# @am, dtefas aufa @
fader & @afid @eg &
arer-arer fdIcE cardiie &l
enffe o ar

[Question ID = 229]
a—u,b—ui,c—1v,d—1 Zii W-iii 9T <
1 / th-ii Wi 9T iv H-i [Option ID = 915]
a—u. b—u.c—iv,d—1 _iii ©-ii i &
7. / h-iii W-ii Miv H-i [Option ID = 914]

32—t b—ic—1v, d-i11 / h-i @i v o iii [Option ID = 916]
a—ii. b—iii. c—iv.d-i / & @-iii iy
4, [Option ID = 913]

Correct Answer :-



2 ii b il c— v, d—i e L AR
. / h-ii W-iii IMiv H-i [Option ID = 915]

Match the conception of power with the thinker

a) Power as capillary action 1) Antonio Gramsei

b) Power as enhanced capacity i1)Hannah Arendt
emerging from collective action

c) Power as legitimate avthority 111) Michel Foucault

d) Power as Hegemony 1v) Max Weber

arfdd &1 faaReRT Fael fa=m iR faarer & gafea &1
&) arfed ua e fhar i) TefaaT ameefr
@) ufdd @A fohar gann 3f¢d aiissd &TAdT (enhanced capacity) i) Goeil e
a1) ofdd ve du wifder i) fEvTer et
) ofdd us gelEE & 5 A iv) HeE Sa

[Question ID = 263]

a-iv, b-i, c-iii, d-ii / & iv) @ i) Tiii i
. / iv) i) i) i) [Option ID = 1050]
a-it, b-it, c-iv, d1 / i) @) #Wiv)  Hi)

2. [Option ID = 1052]
a1, b, v, dn S g )W i) Tiv) o i)

3. [Option ID = 1051]
a-il beiil, c-iv. i /& i) @) AT )

4. [Option ID = 1049]

Correct Answer :-
a-ii, b-i1, c-1v, d-1 / FHiii) i) Tiv)  Hi)
. [Option ID = 1052]

Match the following?

A Authors B. Books
1. Vishnu Gupta I. Harsh Charit
2. Kalidas II. Arthashastra
3. Bhartihari ITT. Raghuvansam
4. Banbhatta IV. Nitishatak
gaferd

A oE®H B forara
1. fasop arear i) EoERa
2. oG i) 3refemex
3. HOpN iti) TeraerH
4. AT iv) ehifcrercen



[Question ID = 294]

. 1(@D-2av).3(D-4 D [Option ID = 1176]

2. 10D 2.3 -4 @) {option 10 = 1174)
L 1AV)-2AM. 3@ 4D fopon 10 - 1175]
. 1 (). 2(IID). 3 (IV). 4 (D)

w

[Option ID = 1173]

Correct Answer :-

1 (D). 2 I1). 3 OV). 4 (T)
. [Option ID = 1173]

44) What does the concept Dialectic mean in Marxism?

AladrG A HiSG q@eadl (Dialectic) #T 372 &7
[Question ID = 259]

faremerat & & @-3feaca
1. Coexistence of Contradictions / [Option ID = 1033]

3Ulerd Helr

2. All the above / [Option ID = 1036]

) . afi= .
3. Discussion / [Option ID = 1034]
ARdcd &l FATALeT
4. Transfer of Essence / [Option ID = 1035]

Correct Answer :-

TEememt & d= gs-waaa
« Coexistence of Contradictions / [Option ID = 1033]

45) In A Theory of Justice John Rawls gives lexical priority to:-
a) Liberty Principle over Equality Principle.
b) Principle of Fair Equality of Opportunity over Principle of benefit to worst off

c) Principle of benefit to worst off over Principle of Fair Equality of Opportunity
d) Equality Principle over Liberty Principle.

v 2N} HTH STREeT { Sl A3e o Hd wrafAFar (lexical priority) &1

Rgara &ar & e -

A TadAar feyid & GAEar fBeuid & 3u wrAafAwar & S §)

Bl HGERI $I foAvuar TARIAT & Rguid & gleddd cafdd @l amsl & 3ifde Agca
&t @ fgura

O EiAcH F Fafae o & FTEU H fAuar GAADT § IW FHged ool

D) FHATAT & Rewid I Tadaar & Ry 4 3ifas Agea S

[Question ID = 264]

1. aand d [Option ID = 1053]
2. a and b [Option ID = 1055]
3. a and c [Option ID = 1054]
4. b and d [Option ID = 1056]



Correct Answer :-
« aand b [Option ID = 1055]

46) Who said that international affairs are ‘inhospitable’ to Liberalism?

e $ET o 3G AT ATH & dosf & AR T 82
[Question ID = 233]
Gl Eﬂé [Option ID = 932]

ool gl

2. Stanley Hoffman / [Option ID = 931]

1. Joseph Nye /

TEIhe dlec _
3. Stephen Walt / [Option ID = 929]

4. Robert Keohane / E [Option ID = 930]
Correct Answer :-
« Stanley Hoffman / : [Option ID = 931]

47) Pandita Ramabai’s political ideas fused several linkages of:-

9f3ar \EEE & ToEae fGant & a5 ART FEASIA B

[Question ID = 282]

1. Caste / [Option ID = 1126]

fog a#t, g 3R S

2. Hinduism, Feminism and Caste / [Option ID = 1127]

3. Feminism / [Option ID = 1128]

Arfiarg 3R sfa

4. Feminism and caste / [Option ID = 1125]

Correct Answer :-

foeg o, arfiarg 3R Sfa

¢ Hinduism, Feminism and Caste / [Option ID = 1127]

48) Ramanuja was associated with which among the following?

A et & & foad gafad o9
[Question ID = 291]

1. Vaishnavism / [Option ID = 1163]

oa

2. Sikhism / [Option ID = 1164]
3. Shaivism / da [Option ID = 1161]
4. Jainism / [Option ID = 1162]

Correct Answer :-

« Vaishnavism / : [Option ID = 1163]

49) Machiavelli is a modern philosopher because:-



Afrarae vk srdfeie areifae § aiie
[Question ID = 253]

31 sAfdedr dall 2ig ATIES & gehreld [T

1. He advocated double standards of morality. / [Option ID = 1011]
FeTehl HIAAT T fo @rexr AT & Feafdd aar ¢
2. He believed end justifies the means. / [Option ID = 1010]
3HF AU oG A ogarg § 2T HdgAT fGErs usdr off
3. He had adhered to a sentiment of nationalism in his writings. / [Option ID =
1009]

T A AUAF & T g A AT T
4. He was nostalgic about Roman Republic. / [Option ID = 1012]

Correct Answer :-

IFF I oG F TegaE oI HagAe fGars asar o

* He had adhered to a sentiment of nationalism in his writings. / [Option ID =
1009]

50) Ramabai converted to:-

TATES o T & 9Rafdd -

[Question ID = 283]

1. Christianity / - [Option ID = 1130]

2. Judaism / qﬁa A [Option ID = 1132]
SEaTH H

3. Islam / [Option ID = 1129]

dhqyr et 3

4. Buddhism / [Option ID = 1131]

Correct Answer :-

s o A
« Christianity / [Option ID = 1130]

51) Rajukas were appointed by Ashok to perform which among the following functions.

TS & ofed aneie @Rt fRT & & forsarea & foiw fRm o -

[Question ID = 289]

=g & TAEIT
1. Collection of revenue / [Option ID = 1153]
drarfore R
2. Educational activities / [Option ID = 1155]
3. Judicial function / o Hr [Option ID = 1156]

enfie o
4. Religious activities / [Option ID = 1154]

Correct Answer :-

« Judicial function / [Option ID = 1156]

52) Which Article of Indian Constitution provides greater autonomy to the J&K compare to the other states of India?

TrFafafaa aRdrr afdens & el A7 O Sid o9 FFR FT 3 & IJe
5 o 1f9s Tarar vee aar §7




[Question ID = 304]

Iefede 371

1. Article 371 / [Option ID = 1213]
a@ﬁz 365

2. Article 365 / [Option ID = 1215]
3o 375

3. Article 375 / [Option ID = 1216]
31@?&3’ 370

4. Article 370 / [Option ID = 1214]

Correct Answer :-

3@?&3’ 370

« Article 370 / [Option ID = 1214]

53) Wassenar arrangement seeks to bring transparency in the export of:-

1. Conventional arms

2. Dual-use goods

3. Small arms and light weapons
4, Military aircraft

Select the correct answer using the codes given below.

TRNR AR F 3ifd 5 Hie ¥ Fafa & uyrelRiar am #t Fikm i 18 -
1. WRNT 3R
2. e¥ UaNT arell qreht

3. B 3 3T §ob BN
4, ¥ WRHTE

9 33 M gl § & 9 &1 g -
[Question ID = 217]

1. 3 and 4 only / 1,3 3R 4 &
1.
, 1.2.3and4 / 1,2,3 T 4

la.ndzonl}')f 1 3K 2 dad
3 [Option ID = 865]

, 23 and 4 only / 2,3 3R 4 &aw

[Option ID = 866]

[Option ID = 868]

[Option ID = 867]

Correct Answer :-
1,23 and 4
2.3ad4 / 123 @ 4 [Option ID = 868]

54) Modern Indian Political thought is ‘modern’ because:-

e ARA Ustelias ad safoe smafas § aifes
[Question ID = 281]

1. India was always modern / Sl q 2 % [Option ID = 1124]
2. Modern political ideals of eqaulity and liberty influenced these thinkers /
AT 3R T ST 3Mefoleh f@eRT & 51 faaRe & wenfad faar
Seaiiedl TeT W IMefelehcll T QE3T
3. Modernity begins in the nineteenth century / [Option ID = 1122]

fafeer smaferer o 3R segier &1 3mafeiear &1 &Ra @

[Option ID = 1123]

4. The British were modern and brought modernity to India /
1121]

[Option ID =

Correct Answer :-



« Modern political ideals of eqaulity and liberty influenced these thinkers /
TAETT AR TacHar SRy smufers @R 3 5o fEReT @ ysnfaa [Option ID = 1123]

55) The ineffectiveness of the Protection of Civil Rights Act 1955 led to the enactment of which particular Act in late 1980s?

oiewd 3HE fafaw usey taT 1955 & wsTaereldr & e a9 t9e &
AT & 1980 & ¥ & WA fear

[Question ID = 300]

1. The Scheduled Tribes and Other Traditional Forest Dwellers (Recognition of Forest Rights) Act /

I Stetellic 3R 36 WRETd aqaRri( aasR $ TbEfd) tae

2. The Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act /
FAHad Afa 3R IR Serania (R § Fan) e

Iusied TLaToT Uac
3. The Consumer Protection Act / [Option ID = 1199]

A=g fEER UFe & GIEToT
4. Protection of Human Rights Act / SH [Option ID = 1198]

[Option ID = 1197]

[Option ID = 1200]

Correct Answer :-
« The Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act /

Iegiag afg AR s Seaenta ( e’ S o tee _
ERN ERL [Option ID = 1200]

56) Considering Isaiah Berlin's understanding of liberty, which of the following statements is not correct:-

1T afeied T Tadadr Gaell Tdheddl o 5@ o foed # & ol a1 o a@gr
el 8-
[Question ID = 244]

1. Berlin makes a distinction between negative and positive liberty /
dfciel o APRIcAS 3R THRIcHS TddAal & drg IR Tedd far

[Option ID = 973]
2. Negative liberty means not being prevented from other individuals to attain one’s goal /

AFPRICHS Tadadl & 379 gidl ¢ el cafed &7 388 oad Uied ool & HIs =T
TF|
3. The capacity or incapacity to fulfill one’s desires belongs to the individual himself /

forelt cafda 1 sTond 61 ofd & 61 aAar a1 s e 1 =fdd | R

T [Option ID = 976]

U= hdd dfdd H GHNIcHS TadAdT e il gl
4. The state can only secure positive liberty to the individual / [Option ID = 975]

[Option ID = 974]

Correct Answer :-

U= hddl cdiagd & TPHIcHS Taaadl Yelel Hidl ol
» The state can only secure positive liberty to the individual / [Option ID =

975]

57) The term ‘Washington Consensus’ is another way to describe:-

arfeeresd AgAfd eeciacy & Uah 3T ddd & 0 aienf@a e s g 2-

[Question ID = 228]

1. Neoliberalism and is based on the model of ‘development as modernization’ with a thrust to ‘stabilize, privatize and liberalize'. /

AASGRANG qUT HTHAHIHOT & ¥ A 06T * & Alsd W G T
wrfic, fasiaxor 3R sgilisa’ gt & wfa = o

[Option ID = 909]



2. Multiculturalism focusing on a positive endorsement of diversity based on the right of different cultural groups to respect and recognition /

Sgarepidar S faferar & RS Gadd WG gl § v 96
At W@mm@? yWEeR & 9fd @9 9 TEFRAr (recognition)
& A G:l?ﬁ %I [Option ID = 912]

3. McDonaldization whereby global commodities and commercial and marketing practices associated with the fast food industry have come to dominate more

Hesiaressoe ST Tedge AHGEEN 3T SRS T aekied 96T
BIeC B e & | Faed eidl ¢ aul SHeT HTiE dae] W HUS
F A =0T g B

and more economic sectors. / [Option ID = 911]
4. Protectionism and is a set of policies pursued at the expense of other states that are believed to be in their own country’s short-term national interest. /

TRETOTAIET T XY ifaal &r §e S 3ed Al & Hed 93U U &

Jrevanifern f@dl 9 ameaniia o [Option ID = 910]

Correct Answer :-

« Neoliberalism and is based on the model of ‘development as modernization’ with a thrust to ‘stabilize, privatize and liberalize’. /
Ad3GRAlG dUT ‘HfAHEoT & &0 # fahRi & Aisel W 3R o
Ty, fasieor 3R seliea g & ufa =g o [Option ID = 909]

58) Which of the following is true of Marxism:-

a) Marx would have supported the liberal welfare state because it improved the condition of the proletariat.
b) Emancipation is impossible to achieve under capitalism.

c) Under capitalism, only the workers are alienated.

d) Capitalism is the system under which productive forces reach their peak.

frrafafad & @ @19 91 arwiare 3 S69itd 9 @:-

F) IR A ITRATS FIBRT TG FH JUAF a1 ¥ RSP 3097 TdegRT ot uRfRufa & gur gar g1
@) Yoltare & siaifa gfda & @& &) g1RIa &1 SR 8

) Yoltarg & siafa daa AeigR g Sramfad Hegd avd 7

) Yoftare @ yomet § Rrad sanfaa wfgat o o v uged @1

[Question ID = 272]

& g

1. aandc [Option ID = 1086]

2aandd® AT [Option ID = 1085]

& 3w

3.aand b [Option ID = 1087]

w3t g
4.bandd [Option ID = 1088]

Correct Answer :-

gikg
e bandd [Option ID = 1088]

59) Match the provisions of the constitution with the countries from which they are borrowed:

A) DPSP 1) USA
B) Judicial Review 2) Ireland
C) Charter of Fundamental Right 3)France

D) Principle of Liberty, Equality and Fraternity 4) USA

T & yraur $1 forg 3= F foran man 8, I9 G & Ty gafea ai-



A) T & Hifd e 9@ 1) guaY

B) =uTi® aeiien 2) 3MRAS
C) Wiftr® RPR P AR 3) WBig
D) Td=dT, THTHGT 3R ST 4) gEay

[Question ID = 302]

;. A-1B2C4D3  [gption Ip = 1205]
2, A-2B-1CAD-3 (o0 D = 1206]
3. A4B-2C-1D3 option 1D = 1207]

A-2B-1C3D+4

4 [Option ID = 1208]

Correct Answer :-
o A2B1CADS3 opti0n 1D = 1206]

60) Which one of the following statements is not correct?

frafafag & ¥ &9 a1 s acT 707 &7

[Question ID = 53393]

1. Rawls and Dworkin are the proponents of the idea of equality of resources

WEed AR sifha TamET & FAEar & fER & Regiaser §
[Option ID = 93559]
2. Rawls gave priority to the difference principle over the principle of fair equality of opportunity

B o NearaHer HeHid H aEil i fFAvaar Tanar & 3uv e fear
2l

[Option ID = 93557]

AR A GHE ¥ FeiAdl 3UEH § 57 ¢
3. Martha Nussbaum is associated with the capability approach [Option ID = 93560]
4. The idea of ‘Complex Equality’ is associated with Michael Walzer

SAfee TATTAT (complex equality) @7 TEERYRT ASHA doe] O SISt g3l 4l
[Option ID = 93558]

Correct Answer :-
* Rawls gave priority to the difference principle over the principle of fair equality of opportunity

USed o AgaTaHerd QUi & HawRl S fAvaar AT & 39 {adr fgar

1l [Option ID = 93557]

61) India has signed Comprehensive Economic Partnership Agreement (CEPA) with:-
1. USA
2. Singapore
3. Japan
Select the correct answer using the codes given below.
STRT o caud fYE aia gwsitar (@sdiv) W erani feas Ty e
1. guae
2. IR

3. AYTed

A T I FET 7 T TEr @ 90T B



[Question ID = 53391]

1,2 @ar 3
1.1,2and 3 [Option ID = 93552]

1 T 2 Fad
2.1 and 2 only [Option ID = 93549]

3.2and3on|y2§r&n3 hael

4. 3 only 3 Ic [Option ID = 93550]

[Option ID = 93551]

Correct Answer :-
2 @I 3 [Option ID = 93551]

e 2 and 3 only

62) In Marxian philosophy Mode of Production can be roughly equated with:-
AFHAIET caled 7 3cUIce YOTell &1 THAd: CERT Adr &-
[Question ID = 53396]

1. Forces of Production and Relations of Production 3¢ J1Ge] Fr e }ﬁT 3cHlee & Taer [Option ID = 93570]
IcUed § 5 FRE

2. Factors of Production [Option ID = 93569]

3. All the above ST 3 [Option ID = 93572]
Jcdleel @l Tl )
4. Means of Production [Option ID = 93571]

Correct Answer :-

« Forces of Production and Relations of Production 3¢ 1Ge] T erfeat 3T 309 Ge & Taer [Option ID = 93570]

63) Saptanga theory of the state was propounded by:-

T=T § S5 HedrT Rewd & gedd far
[Question ID = 290]

chepUl
1. Kalhana / [Option ID = 1158]

FifeeT
2. Kautilya / [Option ID = 1157]
ClL ke
3. Banbhatta / [Option ID = 1159]
4. Kalidas / [Option ID = 1160]
Correct Answer :-

- wifeed _
« Kautilya / [Option ID = 1157]

64) With which ideology would you associate the idea of state as an unnecessary evil?

farT FIaRURT & 3ceid Ted &1 T HATEedd AT & 9 A AW AT 82

[Question ID = 1017]

. ArEIarg .
1. Communism / [Option ID = 4065]

. TS dldlg )
2. Anarchism / [Option ID = 4066]

3. Fascism / [Option ID = 4068]

4. Liberalism / [Option ID = 4067]



Correct Answer :-

« Anarchism / [Option ID = 4066]

65) Negative liberty should be distinguished from the ‘conditions of its exercise,’ said:-

ARIcHS TAdAdT ol 3Tehl UAT alel IRTEATT & HeldT aeh AT aIRy| I§
FU FaT FaT &

[Question ID = 268]

et afee
1. Isaiah Berlin / [Option ID = 1070]

2. Thomas Hobbes / el BISET 1 4ion 1D = 1069]

3. Karl Popper / el AT [Option ID = 1072]
Sttt TEate foer
4. John Stuart Mill / [Option ID = 1071]
Correct Answer :-
e afes
« Isaiah Berlin / [Option ID = 1070]

66) Nehru is considered a secular thinker:-
A6E U AdheR TAdd & 39 A A S g it

[Question ID = 287]

FHHI Ieerd 3etehl A # fHear §

1. On account of his autobiography / [Option ID = 1147]
2. Because he was a Kashmiri pandit / ERIIE dg = R afsa & [Option ID = 1145]

TAFIONA USAATT I ool 6T §
3. Because he was a politician. / [Option ID = 1148]

4. Because he believed that the state should not support any religion /

it St faearey o for o T Rl off Rt @ wEde At war aew Lo

Correct Answer :-
» Because he believed that the state should not support any religion /

Fifes 3aar faeara o1 & U= &1 Rl oft oot &1 wada 7g e afge [Option ID = 1146]

67) The dictum, 'Imperialism is the highest stage of Capitalism' was propounded by:-

FHISTAIG, Usialg 1 3(dH =RoT 7, 95 HUe fhas gfauriea far o

[Question ID = 235]

aras afe

1. V.I Lenin/ [Option ID = 938]

e e Hh
2. Andre Gunder Frank / = [Option ID = 939]

WA GEEEUE)

3. Emmanuel Wallerstein / [Option ID = 940]
el HTFT

4. Karl Marx / [Option ID = 937]

Correct Answer :-



ar.3ms e

o V. Lenin/ ' [Option ID = 938]

68) Who among the following can be considered as an exponent of procedural theory of justice?

fTfafaa # & ol s@Fwe e & Fgra @ S Reaasr §2
[Question ID = 245]
A1 dewda
1. C. B. Macpherson / [Option ID = 979]
THATTA i
2. Immanuel Kant / [Option ID = 980]

T &

Uh,
3. F.A. Hayek / [Option ID = 978]

qaE A
4. Robert Nozick / [Option ID = 977]

Correct Answer :-

Tae Afas
» Robert Nozick / [Option ID = 977]

69) Who among the following can be justifiably called the first modern propounder of the idea of negative liberty?

fertferiad & W i AhRIcA® Taceial & [@9R & J20H 3refeis Heenasr
AT ST 87

[Question ID = 252]
gle
1. Hobbes / [Option ID = 1005]

e

EIED
2. Locke / [Option ID = 1006]

Aferemaeir

3. Machiavelli /

A
4. Mill / [Option ID = 1008]

[Option ID = 1007]

Correct Answer :-
gled
« Hobbes / [Option ID = 1005]

70) Who among the following gave a law about the relationship between electoral system and party system?

fArafaf@d # € feds gard gqufd @ gefia geufd & &9 §au & fav &
e &1 widues foar §-

[Question ID = 208]

Tl B3
1. Anthony Downs / [Option ID = 832]

2. Maurice Duverger / E [Option ID = 830]
. o

dATOAL
3. Seymour M. Lipset / [Option ID = 831]
- . - T ! EI Ei E -
4. Giovanni Sartori / [Option ID = 829]
Correct Answer :-

* Maurice Duverger / E [Option ID = 830]



71) Who among the following first modernized the tradition of Natural Law?

e Hlefet I ORI I TAWUH YA Tl @1 A R Sar 2

[Question ID = 261]

e

Els‘ﬁ
1. Hobbes / [Option ID = 1042]

2. Locke / [Option ID = 1043]

3. Machiavelli b. Hobbes c. Locke d. Marx / [Option ID = 1041]

4. Marx / [Option ID = 1044]

Correct Answer :-

e

« Hobbes / © [Option ID = 1042]

72) Who among the following are the propagators of Capability approach?

T ¥ ¥ FI9 FaTAar 399TH (capability approach) &1 m &7
[Question ID = 237]

S TEed 3R Iac Alfols

1. John Rawls and Robert Nozick / [Option ID = 945]
2. 1.S. Mill and Amartya Sen / SRS Bﬂ'{ HHC ; el [Option ID = 947]
AR A 3T A [

3. Martha Nussbaum and Amartya Sen / [Option ID = 948]

4. Amartya Sen and Jurgen Habermas / [Option ID = 946]

Correct Answer :-

9T FHdH A
« Martha Nussbaum and Amartya Sen / AR 2 3%? 1A [Option ID = 948]

73) Who among the following is credited for having discovered the ancient text Arthashastra?

Trrafafea 7 O fors urier Zer 37efemed &7 Tielel &1 4”7 1ar &7
[Question ID = 293]

&. 47 STagdrer
1. K. P. Jaiswal / [Option ID = 1170]

dr.dr Hror _
2. P. V. Kane / [Option ID = 1172]
. HIHATATEA
3. R. Samasastry / [Option ID = 1169]

RS TSR
4. R. G. Bhandarkar / [Option ID = 1171]

Correct Answer :-

IR, TTATLRET _
« R. Samasastry / [Option ID = 1169]

74) Who amongst the following is the proponent of ‘World System Theory'?

fArafafag & @ *ia farg cgaewr feuia & woiar §7

[Question ID = 213]

A dTeREes

1. Immanuel Wallerstein. / [Option ID = 850]



UHAN FIT
2. Immanuel Kant. / < [Option ID = 849]
e AeT ek
3. Andre Gunder Frank. / [Option ID = 852]

el AT

4. Karl Marx. / [Option ID = 851]

Correct Answer :-

« Immanuel Wallerstein. / = [Option ID = 850]

75) Consider the following statements about NPT and CTBT:-

1. India has neither signed NPT nor ratified it.
2. India has signed CTBT but not yet ratified it.

Which of the statements given above is/are correct.

TS 3 AAEE F gt 7 FeTeiEg FuEr W EER S
1. R & A df T W gEAER G AT e §9 9fte far
2. AR o HOHE R gEani o a1 Wd 39 39 dh Iice @60 Har .

A T il AT HUST TG 67

[Question ID = 215]
Neir_herlnorl/ arar1 dvardr2
1 [Option ID = 860]

Both 1:and 2 / 1 3R 2 2=t

2. [Option ID = 859]

3. 1 Oﬂl’_‘f/ m 1 [Option ID = 857]

2only /' daer 2 _
4. [Option ID = 858]

Correct Answer :-

1 only / #aet 1 [Option ID = 857]

76) After split in Congress Party in 1969, the two parties that formed were:

1969ﬁmmﬁﬁ§qﬁmﬁﬁﬂ—ﬁﬂﬁffqﬁiﬁﬁ
[Question ID = 301]

S (TH) 3R HER (375)

1. Congress (S) & Congress (I) / [Option ID = 1203]

FEg (3 R FEE (3IR)

2. Congress (O) & Congress (R) / [Option ID = 1204]

FHEAT (3 TAT FET (3D

3. Congress (0) & Congress (I) / [Option ID = 1201]

FEE (HR) dT wE (TF)

4. Congress (R) & Congress (S) / [Option ID = 1202]
Correct Answer :-

FEg (3M) IR FEE (IR)
« Congress (O) & Congress (R) / [Option ID = 1204]

77) What does the concept Base mean in Classical Marxism?

AT HATFGdIE, & HTR (mean) &1 79 &-

[Question ID = 258]



1. Politics / [Option ID = 1032]
2. Economy / [Option ID = 1029]
3. Social structure / WGUELINIEE

TR
4. Superstructure / [Option ID = 1031]

[Option ID = 1030]

Correct Answer :-

o Economy / [Option ID = 1029]

78) What is the time period of the Third Wave of Democratization as explained by Samuel P. Huntington?

Qe 0. gieaes o e AT & 0 FleaAever #1 el dEe S e
fohar or-

[Question ID = 211]

(1945-1960)
1. [Option ID = 844]
, (1826-1926)

, (1920-1930)

[Option ID = 841]

[Option ID = 843]

(1974-1989)
4, [Option ID = 842]

Correct Answer :-

(1974-1989)
. [Option ID = 842]

79) What kind of vision is exhibited by Kautilya according to V.R Mehta?

dLAR Agar & AR Hifced # 0 o Aew uefia gt &

[Question ID = 295]

Mialél

1. Idealist. / [Option ID = 1177]

SRR (WITHEF)
2. Pragmatic. / [Option ID = 1180]

TaeadT (FIEATTeEsT)

3. Cosmopolitan. / [Option ID = 1179]

HAHTATcHER
4. Syncretic. / [Option ID = 1178]

Correct Answer :-

TRRAR (HIAEH)
* Pragmatic. / [Option ID = 1180]

80) Which of the following is NOT a political work written by 1.S. Mill?

e & @ Fl & Toifas 5 oow e o a8 o B
[Question ID = 362]
fafsdmerar 31 @ TSCH 3w e

1. Vindication of the Rights of Women / [Option ID = 1448]



aﬁmmﬁwaﬁﬁ

2. The Subjection of Women / [Option ID = 1447]

e

) 3T et )
3. On Liberty / [Option ID = 1445]
Hager 3+ g Ru=i=eg aa=de [Option ID = 1446]

4. Considerations on Representative Government /

Correct Answer :-

« Vindication of the Rights of Women / tel Q i = o [Option ID = 1448]

81) Which of the following is not a feminist argument:-

feAfafad § @ iF a1 A9 9% 76 B

[Question ID = 271]
1. The public-private divide has been used to marginalise women from public participation. /

Ardfae-Taalr &7 &1 Qe = v At o aas@s ggafear @ o

%-I [Option ID = 1083]
2. Patriarchy is a system of structural domination that disadvantages women. /

g v T TRAAcHS UeI=aT arell saaeen § S Afgent & forw
AFAREES ol
pal

3. The goal of feminism is to dismantle patriarchy and establish matriarachy. /

ARG & Aad e ®f @fsd aelr R ATqaacAs TATST $T TATTAT HTel

gl
4. Unequal sexual division of domestic labour is a source of women'’s oppression. /

B AH & e @ faue daRprd e eere Afgensi & et & wid
gl

[Option ID = 1081]

[Option ID = 1082]

[Option ID = 1084]

Correct Answer :-
» The goal of feminism is to dismantle patriarchy and establish matriarachy. /

ARG, # "aa Tgaar & @ied el 3R AGEacA® A $T FATTT HET

|
¢ [Option ID = 1082]

82) Which of the following is not an argument in favour of political obligation?

Trafef@d § & Sid @1 d& Todifas oifficd & 987 7 787 82

[Question ID = 270]

1. We should obey the state because the state is powerful and can punish us. /
63 U= T 9TeleT &ell =MpY Fifeh Uod erfaaere § i g ag gs s &
F&Har ¢l

2. We should obey the state because we have derived benefits from having lived under its rule. /

B3 (=T FT GIel AT FIMGT F11h T4 & AR A Il §U eeiliead §e ol

3. We should obey the state because we have given our tacit consent to do so. /
g3 o &1 Ul &{all gV §H« Ald TgaAfad T &a & fov fear §)

4. We should obey the state because we expect others to do so. /
T T & U ST AT F=ife g gEn & o I8 3ele aa € & ag el
TR A [Option ID = 1080]

[Option ID = 1079]

[Option ID = 1078]

[Option ID = 1077]

Correct Answer :-



« We should obey the state because the state is powerful and can punish us. /
EH U & UTeld &aAT dpT it o afdaemel § v gi ag gz s &
%rl [Option ID = 1079]

83) Which of the following is a necessary characteristic of the state?

TeafafEa & sia @ =g fr smawas @war §-

[Question ID = 273]

1. Common race / Weh ITHTT ofte [Option ID = 1091]

Ueh AT #ATHT .
2. Common language / [Option ID = 1089]

S & IS AGT
3. None of the above / [Option ID = 1092]
4. Sovereignty / 3 [Option ID = 1090]

Correct Answer :-

« Sovereignty / 3 [Option ID = 1090]

84) Which of the following statements accurately describes Plato’s theory of justice?

feafofaa & @ old a1 sua et & =97 fGeuid & axdias avid aXar g?

[Question ID = 254]

7 St AafFaeme aar § 3R FEER g 5 giean g

1. Justice is what the strong can do, and the weak must endure. / [Option ID
=1014]
2. Justice obtains when inequality benefits the least-advantaged. /

R a9 uied a1 ST Aehar § 99 WA AN & HASR dde i aenfead

FAT Bl [Option ID = 1016]

T 9% ad % c@Rl A9 I9A Hacdl & a9 Bl

3. Justice is doing one’s own duty as per one’s station of life. / [Option ID

= 1013]
T e folT A gl

4. Justice is being even. / [Option ID = 1015]

Correct Answer :-

T Ul dfad & GaRT 39 39e dhaedl & fdded gl
« Justice is doing one’s own duty as per one’s station of life. / [Option
ID = 1013]

85) Which of the following is the most important component of the intellectual movement called Enlightenment?

frafaf@a & @ ala o dicfis seea veraseTe/ Feea (Enlightenment) &
SISt Wdifeld Ageayul 3aad gl

[Question ID = 255]

dofare
1. Capitalism / [Option ID = 1019]
2. Scientific Revolution / [Option ID = 1020]
- faawy afdear _
3. Reason/Rationality / [Option ID = 1018]
RTSgae;

4. Nationalism / [Option ID = 1017]



Correct Answer :-

« Reason/Rationality / [Option ID = 1018]

86) The Shramamic view of political life:

Teleiifces Sidel I S5 AAT0E WOl & 3ER-
[Question ID = 279]
1. none of the above / 7T & 1% TET [Option ID = 1116]
AT = eyl e saater [Option ID = 1113]
JTEAUT & Siefel AT & 29 & WifdsR W e

3. questions the authority of Brahmins as rule makers / [Option ID = 1114]
4. provided an alternative to the Brahmincal world view / W faea fa=mt &1 fameq FEdd LT [Option ID = 1115]

2. questions the position of women /

Correct Answer :-

« provided an alternative to the Brahmincal world view / STEHOTATGT faed fa=I & fdeheT Uedd LT [Option ID = 1115]

87) Who gave the catch’all model of party system?

rataf@ad & a oo dg si7er #iser 3mp gridf favew e
[Question ID = 212]

. . e )
1. Geovanni Sartori / [Option ID = 847]
A gasn
[Option ID = 845]
3ieT R

3. Otto Kirchheimer / [Option ID = 848]

e 9 (a9

4. Lipset and Rokkan / [Option ID = 846]

2. Maurice Duverger /

Correct Answer :-

E A are

« Otto Kirchheimer / [Option ID = 848]

88) The Kaladan transport project by India and Myanmar consists of which of the following modes of transport?

1. Roads

2. Railways

3. Shipping

4. Inland water transport

Select the correct answer using the codes given below.

R 3R =AR F 6w Iiase 9iaeer & & O & afamgea
goTell oY SR f&ar I’ g

1 ws®w
2 Yo
3) R

4) el Ster gRage

T A ¥ &6 #e & 99T B

[Question ID = 218]



12.3and4 /123 g 4

1. [Option ID = 872]
1,2and3only / 12 qar 3 aaer

2. [Option ID = 869]
1=3aﬂd4°n13'/1 3 @ur 4 Fad

3 [Option ID = 870]

2.3 and 4 only el
4. ) /2' A4 [Option ID = 871]

Correct Answer :-

1. 3and4only /' 1 3 qar 4 Faer
. [Option ID = 870]

89) The 2+2 dialogue in bilateral relations between India and Japan refers to meetings attended by which two dignitaries of the two
countries?

Wmma;maﬂvmﬁgq 2+2 SiOeaT 95& 7 oA 6r St &
hist-hlal nffier ge O
[Question ID = 222]

TETAHAT & FA

1. Prime Minister and Defense Minister / Bﬁ'{ L [Option ID = 885]
weeTEAT 3R Tseafa

2. Prime Minister and President / [Option ID = 887]

genaaAr 3R fager @

3. Prime Minister and Foreign Minister / [Option ID = 886]

fager e 3R & 9

4. Foreign Secretary and Defense Secretary / [Option ID = 888]

Correct Answer :-

90) The four fold programme of Socialist struggle in Lohia’s Thought comprised of Angrezi Hatao (Banish English), Jati Todo (Liquidate
Caste), Dam Bandho (Fix Price). What was the fourth one?

e & qurerard! Tud & 9 IR T Frdwa 7 eibeh gersh, Iy @19, ar aiel & Ary-ary A o/ ur?
[Question ID = 274]

1. Class division /

FIf-fayTS [Option ID = 1095]
2. Rural-urban divide /

ITHUT-=E faUTSH [Option ID = 1096]

3. Himalaya Bachao (save Himalayas) /

femTera s=m3n [Option ID = 1093]
4. Stree-purush samanta (Gender Equality) /

TH-J& AT [Option ID = 1094]

Correct Answer :-
« Himalaya Bachao (save Himalayas) /

feHTera sr=mai [Option ID = 1093]

91) The Manusmrti was:-

FEAfT F wfEa §-



[Question ID = 280]

1. A feminist code / [Option ID = 1120]
2. A code which reflected the stratification of society based on caste /

Q?ﬁé%mﬁnﬁeﬁ%mﬁ?wuﬂqmﬂmwaﬁﬁ@mmh[

Option ID = 1119]

3. A social code of conduct / [Option ID = 1118]
4. A penal code of conduct / [Option ID = 1117]
Correct Answer :-

« A code which reflected the stratification of society based on caste /

oY dfgar foEd Sfa & 3R W A & ST # GERn @ g [Option ID = 1119]

92) The 13t amendment has been a point of contention between India and Sri Lanka. The 13" amendment provided for:-
1. Establishment of provincial councils.
2. Taking action against the human rights violators

3. Creation of a second chamber in central legislature.

Select the correct answer using the codes given below.

7R 3R Aleidr & @ 1341 Gevaa el & deg & ¥ ag 134T gt &
ZanT-

1) Widr giiue & TAYAT & 3eold ¢

2) AT JATEFRT FT g FKeT ae & &P FEEnT & 3eed ¢

3) @gel dferveray & gdidg Je &1 9od
fAFafaf@d ocd # § wer & a3 -

[Question ID = 223]

1.2and 3 only / 2 '}ﬁT 3 [Option ID = 891]

thad 1 )
2. 1only/ [Option ID = 889]

1.2, 3

3.1,2and 3/ M [Option ID = 892]
4.1and 2 only / herel 1 BﬂT 2 [Option ID = 890]
Correct Answer :-

thael 1 ,
e lonly/ [Option ID = 889]

93) The Mahabharat is considered a political text because:-

HEIIRA U TSTellide Hid Al Al § adieh
[Question ID = 286]

AE THSICIT AT I Tl FT §1

1. It discusses contemporary politics / [Option ID = 1144]
FiifE g TH AGIPIA § [Option ID = 1141]
a5 Afgensil 1 {fAH W w@e I §

3. It questions the role of women / [Option ID = 1142]

aF Terefae afdd & aefa & 913 gfaer & vedd axar §

4. It raises dilemmas on the nature of political power / [Option ID = 1143]

2. It is an epic poem /

Correct Answer :-



o - TE ToTeilicieh QAfercT w1 Ui F 3 G &1 Fedd #=al & _
« It raises dilemmas on the nature of political power / [Option ID = 1143]

94) The 'Clash of Civilization and New World Order' predict an ideological shift in the post-cold war period from:-

TETAT3T T T (FeieT 3T RAfaenseiee) awr a5 G caaer &
ArAH W IR M Jeu Hel F B FRe R 1 A6 s -

[Question ID = 227]

Uarilias fa=Rerr @ 3nfe 3crae & ddm

1. Political ideology to economic liberalism / [Option ID = 905]

f@aRaRT & Tegfd 3R o H WH

2. Political ideology to culture and religion / [Option ID = 908]

HITSTlTe 3 -3fahT T R

3. Geopolitics to geo-Economics / ™ [Option ID = 906]

UoeAT=T T GHAdr &7 T WG
4. Nation-State to Civilization / [Option ID = 907]

Correct Answer :-

« Political ideology to culture and religion / [Option ID = 908]

95) The Indian Ocean Rim Association (IORA) aims towards:-

1. Social development of Indian Ocean rim region.
2. Enhancing security and protection from piracy.
3. Trade facilitation.

Select the correct answer using the codes given below.

forg FErERENR Ra 3T (10RA) T WHE 3683 &

1. TErg AgPREAT A &1F &1 Ol [darT
2. WIS ¥ L& T TRETOT B HIeHIgeT
3. ©UUR YicHgA

TFd &5 H F FEI A 999 -

[Question ID = 221]

2 3R 3 Faw _
1.2and 3 only / [Option ID = 883]

1,2 3K 3
2.1,2and 3/ [Option ID = 884]
1 3R 2 Faa

1 3K 3 el )
4.1and 3 only / [Option ID = 882]

3.1and 2 only/ [Option ID = 881]

Correct Answer :-
iR 3
e 1,2and 3/ [Option ID = 884]

96) In Indian context, the Vishaka Guidelines lay down the provisions related to which of the following?

ARG deel A wRga fumar Rafady e gafta uaue & wega & §2
[Question ID = 299]

Friede # adifts 3cfisa & Afgemsit & gLamor

1. Protection of women from sexual harassment at workplace / [Option ID = 1193]



Tae # v ailite Bar & AR &1 oo
2. Protection of women from sexual abuse within marriage / = [Option ID = 1195]

a¥el fgan @ Afgensit & a@waor _
[Option ID = 1194]
Jeagfa & e gt arel ARl ardRA Afgenad & waoT

4. Protection of women from trafficking for prostitution / [Option ID =
1196]

3. Protection of women from domestic violence /

Correct Answer :-

FEETS # e 3cdisa @ Afgensdt &1 waror
« Protection of women from sexual harassment at workplace / [Option ID = 1193]

97) Who is associated with the work The Civic Culture (1963)?

a@ﬁmwrmﬁ)mmﬁ@gﬁ &
[Question ID = 210]
?ﬂé T Eﬁvﬁ' [Option ID = 839]
335 3ved 9 Afgae 3eAs
2. David Easton and Gabriel Almond / [Option ID = 837]
Afeel HoAs T UTHT 515

Afeaer HeAs a f&@sar a&ar
4. Gabriel Almond and Sydney Verba / [Option ID = 840]

1. Thomas Dye and Sydney Verba /

3. Gabriel Aimond and Thomas Dye / [Option ID = 838]

Correct Answer :-

rfa=rer
« Gabriel Aimond and Sydney Verba / [Option ID = 840]

98) Who is the author of the book “Anarchy, State, and Utopia?”

TArhl, ¥ee U5 AT AHE gt ew fordt 82
[Question ID = 239]

) _ fHeed fhsia )
1. Milton Friedman / [Option ID = 954]

2. Friedrich Hayek / [Option ID = 955]
. Qelres Sifdher .
3. Ronald Dworkin / [Option ID = 953]
At
4. Robert Nozick / [Option ID = 956]

Correct Answer :-

L

T ATt
* Robert Nozick / [Option ID = 956]

99) Who is the author of provocatively titled article- "An Anti-Secularist Manifesto”?

frafafaa & @ fow e & ow F1 30w s o W-AgaieA
Aafatreer &2

[Question ID = 205]

1. Rajeev Bhargava / [Option ID = 818]
2. Ashish Nandy / ey Hﬁ [Option ID = 819]
3. T.N. Madan / a.oa [Option ID = 817]

4. Akeel Bilgrami / [Option ID = 820]



Correct Answer :-

o Ashish Nandy / SR T [Option ID = 819]

100) Who is the author of The Discourse on Colonialism?

& [Bvdpiv Hiel @ieiliadicied & oi@® Hid §7

[Question ID = 277]

FATH AT
1. Kwame Nkrumah / = [Option ID = 1106]

MWE‘WQ

2. Archbishop Desmond Tutu / [Option ID = 1108]

3. Aime Cesare / [Option ID = 1105]

Ao el
4. Nelson Mandela / [Option ID = 1107]

Correct Answer :-

o Aime Cesare / [Option ID = 1105]



